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General Instructions :

10.

The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A
List two desirable traits for fodder crops.

Identify the heterogeneous mixture from the following :
Air, soda water, soap solution, brass.

State the type of motion represented by the given graph.

TIME

State universal law of gravitation.

Name the organelle that is referred to as the “powerhouse of the cell’.
Why is it called so ?

In the diagram of location of meristematic tissue in plant body given below, identify
the type of meristematic tissue found in the regions marked ‘A” and ‘B’ of a stem.

State one function of each.

et
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List two demerits of the continuous use of fertilizers.

Give reason for the following :

(a) When a bus at rest starts suddenly, a standing passenger tends to fall backward.

(b) A cricketer lowers his hands while catching a ball.

(a) Define acceleration.

(b) A stone describes a circular path with a constant speed. State the type of motion
of the stone.

Write any two equations of motion for a body having uniform acceleration.

State the source of centripetal force that our earth requires to revolve around the sun.
List the factors on which this force depends.

Write the two components of a colloidal solution. Give two examples for a colloidal
solution.

Convert the following temperatures to
(a) Celsius scale i) 313K (i) 370K
(b) Kelvin scale i 23°C @ 73°C

(a) Draw labelled diagram of striated muscles.

Mention any two characteristic features of the cells that form the above muscular
tissue.

How is manure prepared ?
State the role played by the manure in changing.
(i) Sandy, (i) Clayey soil.

What is composite fish culture system ?

Mention one merit and one demerit of this system.
What is meant by evaporation ?

Define latent heat of fusion.

Why should the wet clothes be spread out while drying ?
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With the help of a diagram explain in brief an activity to show that particles of matter
are very small.

(a) The earth is acted upon by gravitation of sun, even then does not fall into the sun.
Why ?

An object of mass 500 g is dropped from a tower of height 5m. Calculate its
momentum when it touches the ground (given g=10m/s?)

State Newton’s third law of motion.

In the following table the mass and speed of two bodies are given. Which body
has more momentum ? Justify your answer.

BODY MASS (kg) |SPEED m/s
A 1 10
B 2 9

State Archimede’s Principle. A ball weighing 4 kg of density 4000 kg m ~3 is completely

immersed in water of density 1000 kg m 3. Find the apparent weight of the ball in

water. (g=10 ms~?)

Differentiate between distance and displacement.

Under what conditions is the magnitude of average velocity of an object equal to
its average speed ?

Distinguish between chloroplast and leucoplast with respect to their pigments
and function.

How would (i) a plant cell (ii) an animal cell behave when placed in a hypotonic
solution of sodium chloride ? Explain giving reasons.

OR
List any three differences between a prokaryotic and a eukaryotic cell.

Write the composition of a chromosome. Name the part of a cell where it is
formed.

Draw a flow diagram to show the process of obtaining constituent gases from
air.

Which gas condenses first ? Why ?

Differentiate between simple distillation and fractional distillation.
OR
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Define an element.

Name a non-metallic element found in (i) liquid, (ii) gaseous state

Pick metalloid from the following carbon, silicon, phosphorus, gold.

Which two properties of metals enable us to get the desired shape to metals.

Name a metal which is liquid at room temperature.

Using Newton’s law of motion, derive the relation between force and acceleration.
Define one newton.

Which would require a greater force to accelerate a 1/2 kg mass at 5 m/s? or a
4 kg mass at 2 m/s? ? Give reason.

OR

Define Inertia. There are three solids ball, made up of aluminium steel and wood,
of same shape and volume. Which of them would have highest inertia ? Why ?

Describe in brief an activity to illustrate the property of inertia of rest.

SECTION - B
The reagent used to test a food substance for the presence of starch is —
(a) iodine (b) methyl orange

() methylene blue (d) safranin

The outermost layer in an onion cell as observed in the temporary mount of an onion
peel is the —

(a) plasma membrane (b)  cellulose

(c) cell wall (d) cytoplasm

A prepared slide to be viewed under a compound microscope is focused first under —
(@) 15X (b) 10X (c) 40X (d) 100X

A cover slip is placed over the specimen to —

(a

crush the cells in order to see the organelles clearly

)
(b) remove extra stain and water
)

(c

(d) prevent glycerine from leaking out

prevent the tissue from drying
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A student while observing a human cheek cell could not observe —
(a) Nucleus

(b) Mitochondria

(c) Nucleolous

(d) Chloroplast

The acid used to test the presence of metanil yellow in dal is —
(a) Hydrochloric acid (b)  Nitric acid
(c) Sulphuric acid (d) Citric acid

Rema heated a mixture of iron filings and sulphur in a hard glass test tube for sometime
till a greyish black product was formed. She cooled the test tube and added a few
drops of carbon-di-sulphide and shook the contents well. The observation made by
her was —

(a) the solution remain colourless

b) the solution turns blue

(
(c) the solution turns pale green
(

d) the solution turns yellow

The following substances are added to water in four separate beakers (as shown in the
figure) and stirred well. A transparent and homogeneous solution is formed in the
beaker.

KEROiy SU(i%/ Soy

On heating crystals of copper sulphate in a test tube it is observed that —
(a) the substance sublimes

(b) brown fumes are evolved

(c) a grey mass is formed

(d) white residue is left behind
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On burning magnesium ribbon in air —
(a) black ash is obtained

(b) a pungent smelling gas evolves
(©)

(

d) an ash is formed which turns blue litmus red

dazzling white light is produced

To prepare a colloidal solution of starch one should first —
(a) add starch powder to boiling water and stir

(b)
()

(d) add a thin paste of starch powder to boiling water and stir

add starch powder to cold water and stir

heat starch powder and then add water to it

In which of the following mixtures the separation of the components may be done
using a magnet ?

(a) a mixture of ferrous sulphide and copper sulphide

b) a mixture of iron filings and ferrous sulphide
)

(
(c
(

a mixture of sulphur powder and ferrous sulphide

d) a mixture of carbon-di-sulphide and ferrous sulphide

Following four unlabelled mixtures after stirring well were kept for observation and a
student was asked to identify the transparent solution. His correct identification would
be —

(a) copper sulphate + water

(b) milk + water
(©)
(

d) starch + water

muddy + water

Which of the following precautions should be observed while determining the boiling
point of water ?

(a) The bulb of the thermometer should remain dip in water.
(b)  The bulb of the thermometer should touch the pumice stone pieces.
©

(d) The bulb of the thermometer should touch the bottom of the flask

The bulb of the thermometer should be 2-3 cm above the water surface.
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40. On dipping the bulb of a thermometer in the crushed ice a student observes
that —

the temperature keeps on falling till it reaches —1° C and then becomes
constant

the temperature falls to 0° C and remains constant even after whole
ice is melted

the temperature falls in the beginning but starts rising when ice starts
melting

the temperature falls till 0° C and remains constant so long as ice and
water both are present it.

To separate a mixture of common salt, ammonium chloride and sand, the
first step of separation is —

sublimation
filtration
crystallisation

sedimentation
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